Problem B: Cheerleader Tower (cheer.java)
You are the new coach of the cheering leading squad and you want to put your Computer Science background to use! You’ve decided that you want to create the tallest cheerleading tower possible from the cheerleaders on your squad. For each member, you have two pieces of information: how much they weigh, and how much weight they can hold above them. For example, if we had three cheerleaders with the following weights and holding capacities:

A: (120, 300)

B: (200, 600)

C: (140, 250)

We could put all three in a tower with B on the bottom, A in the middle and C on top. Note that by definition, you must hold yourself up so in this configuration, person A is supporting 260 pounds (120 + 140) and not just 140 pounds. This is why person B must be on top. (Note that if person A could support exactly 260 pounds, this configuration would also be possible, but it wouldn’t be if she could only support 259 pounds.)

Obviously, given a larger list, it probably won’t be possible to stack all members on a single tower. But, your goal will be to figure out the maximum number of people that can be stacked onto one tower as described.

The Input

The first line of input will consist of a single positive integer, n, representing the number of test cases. The test cases follow. The first line of each test case will have a single positive integer, m(m ≤ 1000), representing the number of cheerleaders on that particular squad. The following m lines will contain two positive integers, w(w ≤ 300) and c(c  ≤ 300000), each representing the weight and carrying capacity of the ith cheerleader.

The Output

For each test case, output a single line with the maximum number of cheerleaders that can be placed on a single tower for that case.

Sample Input

2

4

300 500

299 600

200 480

100 101

3

200 504

204 345

120 181

Sample Output

3

2
